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Read the following instructions carefully before you begin to attempt the questions.

This booklet contains 80 questions in all comprising the following four parts.

e Part-(I) : General Intelligence & Reasoning (20 Questions)
o Part-(Il) : General Knowledge & General Awareness (20 Questions)
e Part-(lll) : Elementary Mathematics (20 Questions)
e Part-(IV) : English Language or Hindi Language (20 Questions)

All the questions are compulsory and carry equal marks.

Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

Each question carries negative marking also as 0.50 mark will be deducted for each wrong answer.

You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll
number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by pencil or Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy.

Do not spend too much time on any question.

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms.

Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means
in the examination and action will be taken against them including cancellation of their candidature.

(12) No rough work is to be done on the Answer-Sheet.
(13) No candidate can leave the examination hall before completion of the exam.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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General Intelligence & Reasoning

Directions (1-2): Select the related word/letters/number from

given alternatives.

Giant : Dwarf :: Genius : ?

(A) Wicked (B) Gentle
(C) Idiot (D) Tiny
Botany : Plants :: Entomology : ?

(A) Snakes (B) Insects
(C) Birds (D) Germs

Directions (3-4): Select the odd letter/number/word from the

10.

11.

12.

Fb:-

given alternatives.

(A) Autobiography
(C) Journal

(B) Malayalam
(D) Dictionary

(A) Year 2012
(C) Year 2005

(B) Year 1998
(D) Year 1997

Raja walks slower than Raghu and Raghu walks faster
than Guru and Krishna walks faster than Guru, then
who walks the faster?
(A) Raja

(C) Krishna

(B) Raghu
(D) Cannot be determined

Arun said, "This girl is the wife of the grandson of my
mother". Who is Arun to the girl?

(A) Father (B) Grandfather

(C) Husband (D) Father-in-law

If in a certain code, ‘INTELLIGENCE’ is written as
‘ETNIGILLECNE’, then how can “MATHEMATICAL” be
written in the same code?
(A) LACITAMEHTAM
(C) TAMMEHITALAC

(B) AMHTMETACILA
(D) HTAMTAMELACI

If in a certain code, ‘LBAEHC’ is written as ‘BLEACH’,
then how can ‘NBOLZKMH’ be written in the same
code?

(A) OBNKZLHM
(C) BNLOKZHM

(B) LOBNHMKZ
(D) MANKYJLG

If in a certain code, ‘DECEMBER’ is written as
‘ERMBCEDE’, then how can ‘ERMBVENO’ be written in
the same code?
(A) AUGUST

(C) OCTOBER

(B) SEPTEMBER

(D) NOVEMBER

If ‘+’ means ‘x’ , ‘" means ‘+’, ‘x’ means ‘- and ‘+
means ‘+’, then what will be the value of 16 + 64 — 8 x 4
+ 27
(A) 12
(C) 16

(B) 24
(D) 18

f3#4%8=6and9% 4#3=12,then12% 6 # 24 =
?

(A) 4 (8)3
(©)5 (D)6
Identify the diagram that best represents the

relationship among the classes given below.
Soda, Mineral Water, Liquid

N -\
(a) (b)

(A)a
©)c

13.

14.

15.

16.

17.

18.
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How many triangles are there in the given figure?

(A) 18
(C) 20

(B) 19
(D) 21

In the question below are given two statements
followed by three conclusions numbered (I) and (ll).
You have to take the two given statements to be true
even if they seem to be at variance with commonly
known facts and then decide which of the given
conclusions logically follows from the two given
statements, disregarding commonly known facts.
Statements: |. No shirts are t-shirts.

1. All t-shirts are cotton.

Conclusions: I. Some shirts are cotton.

II. No t-shirts are shirts.

(A) Only conclusion (1) follows

(B) Only conclusion (Il) follows

(C) Conclusions (1) and (I) both are follow

(D) Neither conclusion (I) nor (lI) follows

A cube, painted yellow on all faces is cut into 27 small
cubes of equal size. How many small cubes are painted
on only one face.
(A)1
©s

(B)6
(D) 12

From the given two positions of a single dice, find the
digit at the face opposite to the face having digit 4.

D &

(A) 1
©)s

(B) 2
(D)4

From the given answer figures, select the one in which
the question figure is hidden/embedded.
Question Figure

AN

Answer Figures
o b,
0 R B
i
A v
a)

(b} (c) (d})
(A)a (B) b
©)c

(D) d

A piece of paper is folded and cut as shown below in
the question figures. From the given answer figures,
indicate how it will appear when opened.

Question Figure

——

{

o,

Answer Figures
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19.

20.

(A) a
©c

(B)b
(D)d

From the given answer figures, which figure is the
correct water image of the question figure?

monday
(1) yadnom
(3) Aequow

(2) xebnom
(4) wouqoh

A1
©)3

(B)2
(D) 4

Select a figure from the answer figure, which will
continue the series as established by the xix problem

figures.
Question Figure

O] -

M

Qr‘“‘w

Answer Figures

Al |

(1) 2 (3) (4)
(A1 (B) 2
©3 (D) 4

General Knowledge & General Awareness

21.

22.

23.

24.

25.

26.

Fb:-

‘Judicial Activism’ in India is related to
(A) Committed Judiciary

(B) Public Interest litigation

(C) Judicial Review

(D) Judicial Independence

The recently erupted volcano "Klyuchevskaya Sopka" is
located in which country?
(A) China

(C) Russia

(B) Japan
(D) Tajikistan

The Home Rule League in Bombay was started by

(A) MK. Gandhi
(C) Ranade

(B) B.G. Tilak
(D) K.T. Telang

Which of the following powers did not fight for the
Tungabhadra Doab?

(A) Pallavas and Chalukyas

(B) Cholas and later Chalukyas of kalyana

(C) Golconda and Ahmadnagar

(D) Vijayanagar and Bahmani kingdoms

In which session of Indian National Congress the
tricolor flag was unfurled for the first time?

(A) Calcutta Session, 1920

(B) Annual Session of Congress at Nagpur, 1920

(C) Lahore Congress, 1929

(D) Haripura Congress Conference, 1938

Which country is the leading producer of copper in the
world?

(A) Bolivia
(C) Ghana

(B) Chile
(D) Zimbabwe

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.
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Which of the following cities is called the Manchester of

Japan?
(A) Nagoya (B) Osaka
(C) Fukui (D) Hiroshima

When a body is placed in a liquid, the buoyant force
experienced by it is equal to the

(A) Weight of liquid displaced

(B) Density of the body

(C) Volume of body

(D) Density of liquid

The total charge induced in a conduction loop when it is
moved in magnetic field depends on

(A) The rate of change of magnetic flux

(B) Initial magnetic flux only

(C) The total change in magnetic flux

(D) Final magnetic flux only

Silverware turns black after a period of time due to
formation of

(A) Nitrate coating on silver

(B) Sulphide coating on silver

(C) Chloride coating on silver

(D) Oxide coating on silver

What are the blood corpuscles that help to build up
resistance against diseases?

(A) Leukocytes (B) Monocytes

(C) Neutrophils (D) Lymphoctyes

Which are the largest fixator of solar energy?
(A) Bacteria (B) Protozoa
(C) Fungi (D) Green plants

The deficiency of vitamin B causes
(A) Scurvy (B) Dermatitis
(C) Beri-Beri (D) Phynoderma

An equity that is not listed on any stock exchange is
termed as

(A) Private equity
(C) Public equity

(B) Stock equity
(D) Mutual fund

The interest rate at which banks can borrow funds from
other banks in the Indian interbank market is called___ .
(A) MIBOR (B) LIBOR

(C) MCLR (D) Bank rate

Which is not an input device of a computer?
(A) Keyboard (B) Mouse
(C) Scanner (D) Monitor

Satnami movement in Central India was founded by

(A) Jyot'irao Phule
(C) Dr. B. R. Ambedkar

(B) Ghasidas
(D) Haridas Thakur

Under which Article of the Indian Constitution, no act of
Parliament in respect of religious or social practices of
Mizar can be applied to the state of Mizoram?
(A) Article 371 E (B) Article 371 F
(C) Article 371 H (D) Article 371 G

Balimela reservoir is located in which state of India?
(A) West Bengal (B) Odisha
(C) Telangana (D) Andhra Pradesh

Which of the following countries is not a member of
shanghai cooperation organisation?

(A) USA (B) India

(C) Pakistan (D) Russia
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41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

51.

Fb:-

Elementary Mathematics

The ratio between A and B in two different mixtures are
5:3 and 9 : 7 respectively. In what ratio the mixtures
must be mixed so that the new becomes 4 : 4?

(A)5:1 (B)5:3

©2:1 (D)3:2

A vertical cone of volume V with vertex downward is
filled with water up to half of its height. How much the
volume of the water?

\Y \Y
(A) E (B) E
\% \Y
© 7 (D) >

Two friends started for a place one by motor cycle and
the other by train. The speed of motor cycle is 30 km/hr
and that of train is 24 km/hr. The first one takes 6 hours
and 12 minutes to reach the destination. Find the time
of reaching of second one.
(A) 8.00 hour

(C) 7.50 hour

(B) 7.25 hour
(D) 7.75 hour

In AABC, if ~C =90°, ZA = 60° and AB = 40 unit, then
find AC.

(A) 10 unit (B) 15 unit
(C) 20 unit (D) 25 unit
. X2 + y2 +2°
If x +y +z =0, then what is the value of — 7
X*—yz
(A)-10 (B)O
©1 (D) 2

If a + b + c = 2s, then what is the value of (s —a)? + (s =
b)2 + (s — ¢)2?

(A)s?2+az+Db?+c?
(C)s2—a?2—-b2—-c?

(B)a?+b%2+c?2-s?
(D) 45?2 —a? —b? -2

A and B together can complete a work in 3 days. They
start together but, after 2 days, B left the work. If the
work is completed after 2 more days, then how much
days B alone can complete the same work?

(A)4 (B)6

(©)8 (D) 10

If a harmonium is sold for ¥ 16 the percentage of loss is
equal to its cost price. Find out the cost price of the
harmonium.
(A)¥800r%20
(C)% 40

(B) % 25
(D) % 50

The average age of 5 members of a family is 24 years.
If the youngest member is 8 years old, then what was
the average age (in years) of the family at the time of
the birth of the youngest member?
(A) 16 (B) 20
(C) 24 (D) 32

A certain sum of money triples itself in 5 years at simple
interest. In how many years it will be five times?

(A)5 (B) 8

(©) 10 (D) 15

At 10% discount the selling price of an article is ¥ 4500,
what is the selling price if the discount is 27.5%?

(A) % 4000 (B) ¥ 3625

(C) % 3500 (D) ¥ 3125

52.

53.

54.

55.

56.

Directions (57-60):

Production (in lakh tonnes) /
Teqrad (W T T 0 )
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Find the value of 36 +4 of 1+§><§.
2 4 2

1 1

A) 19= B) 17—
(A) 3 (B8) 3
1 1

C) 9= D) 20—
© 3 (D) 3

In a triangle ABC, if #A =55° and ZC = 80°, then which
one is true?

(A) AB>AC >BC
(C)CA>AB>BC

(B) BC >AB > AC
(D) AB >BC > AC

The centre of circle is O and PT is a tangentat T. BC is
the diameter of the circle. If BC is extended, then it
meets the tangent PT at P. It is given that PC = 4 cm
and PT = 8 cm. Find the radius (in cm) of the circle.
(A)5 (B) 6

<7 (D) 4

In the given figure, which of the following statement is
true?

D,
.
.
.
.,
C ) .
— N\
—
. e
B A
(A) AB = AC (B) AB = BD
(C) AC = BD (D) CA=CD

ABC is an equilateral triangle. Points D, E and F are
taken as the mid-point on sides AB, BC and CA
respectively, so that AD = BE = CF. Then AE, BF and
CD enclosed a triangle which is?

(A) Equilateral

(B) Isosceles triangle

(C) Right angle triangle

(D) None of these

The following bar chart shows the
production (in lakh tonnes) of six units of a company in
2006 and 2007.

o 2006 m 2007
120+ 110
110 100 gﬁ]m 105
1001 90 - sl 0%
80 75
60
60
40
20
0 T T T
A B C D E F
Company / ST

What is the difference in the production (in lakh tonnes)
of all companies in 2006 and 20077

(A) 45 (B) 75

(C) 100 (D) 125
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58.

59.

60.

What is the average production of all units (in lakh
tonnes) for the year 2007?
(A) 95
(C) 87

(B) 92
(D) 93

Average production of three units A, B and C in 2006 is
what percent of the average production of units D, E
and F in 2007?
(A) 109.43
(C)91.38

(B) 90.37
(D) 106.43

Total production of two years together by unit F is what
percent of the total production for the two years
together by unit D?
(A) 84.61%
(C) 78.47%

(B) 78.49%
(D) 79.29%

English Language

Direction (61-62): In the following questions, out of the four

61.

62.

alternatives choose the one which can be substituted
for the given words/sentence.

A physician who specialises in diseases of skin.
(A) Altruist (B) Dermatologist
(C) Chiropodist (D) Neurotic

A man who is recently married.
(A) Boon (B) Bride
(C) Bridegroom (D) Broom

Directions (63-64): In the following questions four alternatives

63.

64.

are given for the idioms/phrases being underlined. You
are required to choose the correct meaning of the
Idioms/phrases being given.

Eace the music

(A) Dance at a party

(B) Unpleasant consequences
(C) Compose a song

(D) To be in hurry

To catch a tartar

(A) To meet with disaster

(B) To deal with a person who is too strong for the
assailant

(C) To catch a dangerous person

(D) To trap a wanted criminal with great difficulty

Directions (65-66): In the following questions, a part of

65.

66.

sentence is underlined. Four alternatives are given to
the underlined part which will improve the sentence. In
case no improvement is needed, mark your answer as
(D) i.e. “No improvement”.

| saw through the trick and was on guard.
(A) anticipated (B) detected
(C) witnessed (D) No improvement

You may appoint whoever vou think can do the job
most efficiently.

(A) anybody you think
(C) whomever you think

(B) someone you think
(D) No improvement

Directions (67-68): In the following questions, some part of

Fb:-

the sentences have errors and some are correct. Find
out which part of a sentence has an error. If there is no
error, your answer is (D) i.e. ‘No error’.

67.

68.

Freedom and justice were (A)/ the two cornerstones of
(B)/ the democracy from the beginning. (C)/ No error
(D)

(A) A
©c

(B) B
(D)D

Either a certified check on deposit (A)/ or a valid major
credit card is required (B)/ for one to bid on the good. (C)/
No error (D)
(A) A
©c

(B)B
()b

Directions (69-70): In the following questions, sentences are

69.

70.

given with blanks to be filled in with an appropriate
word. Four alternatives are suggested for each
guestion. Choose the correct alternative out of the four
as your answer.

Carl had a reputation for being a because he
fearlessly skied down the steepest trail.

(A) Leader (B) Dreamer

(C) Coward (D) Daredevil

Conflicting standards for allowable radiation levels in
foods made appraisals of the damage to crops
following the reactor meltdown extremely difficult.

(A) Reliable (B) Private

(C) Intrusive (D) Conscious

Directions (71-72): In the given question four words are given,

71.

72.

out of which only one word is incorrectly spelt. Find the
incorrectly spelt word.

(A) GAURANTEE
(C) MAGNIFICENT

(B) ITINERARY
(D) WRITING

(A) ETIQUETE
(C) RESTAURANT

(B) EXQUISITE
(D) SCAVENGER

Direction (73-74): Choose the word which is most nearly the

73.

74.

SAME in meaning as the word given below.

OBLITERATE
(A) CONSTRUCT (B) ANNIHILATE
(C) REVIVE (D) INITIATE

BELLIGERENT
(A) ANTAGONISTIC
(C) DANDY

(B) CO-OPERATIVE
(D) DELIGHTFUL

Direction (75-76): Choose the word which is most nearly the

75.

76.

OPPOSITE in meaning as the word given below.

SCRIMP

(A) SKIMP (B) CONSERVE
(C) SQUANDER (D) CURTAIL
INCENTIVE

(A) IMPETUS (B) STIMULUS

(C) ENTICEMENT (D) HINDRANCE

Directions (77): In the following question, a sentence has

7.
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been given in Active/Passive voice. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

“Ooh! what a dirty child!” said my aunt.
(A) My aunt said what a dirty child.
(B) My aunt exclaimed what a dirty child he was.
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(C) My aunt said what a dirty child he is.
(D) My aunt exclaimed he is a dirty child.

Directions (78): In the following question, a sentence has

78.

been given in Direct/Indirect speech. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

He said to me, "Where is the post office?"

(A) He wanted to know where the post office was.
(B) He asked me that where the post office was.
(C) He asked me where the post office was.

(D) He asked me where was the post office.

Directions (79-80): The following questions, consists of a set

79.

80.

of labelled sentences. These sentences, when properly
sequenced form a coherent paragraph. Select the most
logical order of sentences from among the options.

An equitable distribution of

P. for a sustained quality

Q. of life and global peace

R. resources has become essential

(A) RPQ (B) QRP
(C) PQR (D) RQP
Your absence has

P. gone through me

Q. through a needle

R. like thread

(A) PRQ (B) PQR
(C) QPR (D) RPQ

=1 (61-67): T faU U Ui Y UG U T Ui &

61.

Fb:-

TR/ ST IR I [ddhed $f g

TN & e ¥ 98 1d 34-34 Tura ATl Tl o
-0 YT g fear w1 dfT AW o A 39
AT ST UT| W19 RR TR 1 3R s16d aran| i
aﬁwmﬁgﬁmﬁ%ﬁmﬁ@ﬁagﬁ
NS R A Rl vsq offl aruar of = I
o iR B o TSI gar H A SR
aﬁ-ﬁ-aﬁ,ﬁlﬁﬁﬂ%mw@ﬁﬁﬂ%lwﬁ
Al ST 4T 9 O Bl bR HUR aTdd BT T 31aT
PRd foQ [E9E A ardl TR I 8 Oy A |
IR i, 7 AW ITHH THAA 3R dhiied Tthg
7| STed dia-atg & SRI-TT TRIHR GTHIRT 1 o 39
| THd BT <IZH g3 < 89 ol fall A SHavwl dR
R A S TAH FT Huar e, Jafe ergett 3
W dleT 3R Ui I R §¢ 9| YPb-8R
Ugdd TMH P aie dl ITd! giad & Wd o g
WA W HE gl ot off SR § 8 @R Saax
%ﬂqs@raﬂﬂaﬁﬁ?w:ﬂmmé@ﬁﬁ
|

IR & oIt ¥ 98 I 349-34 MUTd 1" arey
PTHT I

(A) UGTS T8l HR UTT Y

(B) TR &Y g3 ot

(C) vgd TRk=r g< At

(D) 3fhTd BT HRUT UT &t UT

62.

63.

64.

65.

66.

67.
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e RR WR Y1) 39 B &1 A1 g b Iqra:

(A) 3T IHT AT
(©) q¥ur

(B) @1 T
(D) 319 aTeT U1

TR & YR W Hel off Jobdl g b 3T fa:
(A) T SRR 1 9 g1 A

(B) AFT IR & T 81 T WRIMH 3

(C) AT AT TIRY H A 4 T A

(D) O TR # T 3 HART STl §

Tyl eq 1 41 &
(A) S§ geob! Sal-a1d]  (B) FHAHR SR
() T BER (WEEECEIE

g0 Y fedll 9 SHRBI IR W A ' HAH BT
e fron” ared § s 7 3o+ fey faRiwar &
AT 87

(A) T&HTT T FHIR

(B) TR &1 Tll o dTdl

(C) UeTs H s

(D) BNcETT § AIgR A ardl

B @ A 3 S T8t 7T
(A) S T e aga @ (B) S TR ¥ s=d
(C) SN UgIH & (D) & SXUIH &

T RR TR YT 3R sTed argdT” ared gl
(A) Tgad (B) YhddrIdh
(C) IR (D) T3

fd=T (68-74): TEIY P Uga Fufafed # gew 3Ifd
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fded &1 gu|

wifde! gftfar 59 3w Y sgd ufax fafy 31 3a fem
ﬂﬁumaﬁﬁaﬂéqaﬂémﬁwaﬁm&gw
g1l & | JRABTE BT YUf Tl 3 faT 30 R
R BT gl 3MH Hd, femm uww,
Wq@sﬁuﬁmﬁnms‘rwgm
3y et fob 39 fam 7w &1 9fe® o Safea
g 381 3 o7 He™ ¥ AHwed & nfqufa @
I HAT ST B 3T H O TR Siewddn
T Ul IH T ST dima R fevol &y
BT 8 | 3 UeR Ara faa 7 +ff ool S=taa uo
SfIYS &1 sfaufa g1 WHIfd® g1 % AHdcd
T g wew war ¥ gul Ry wfa demEa Ul
A o o ¥ Fiice! YA & WY @ &
snfafa o1 T oS fear mar g1 e fedt v &€t
f&T o uftfa TR & enfaafd gu e, wm ol &
fora o 3 ufderr uswse 8 g ¢ | miffa U &) Ae@
fear STan 8, W ufdemn snfd 9 & snenfde
=¥ ¥ it Hew e =ifeu sfae & uftsa
T & UIdg YRR & enfauid & fawg o arg-faarg
?ﬂ_ﬁ 39 3T BT RS HMd ot I Hewd
|
o fora forsht ot Jpu eor & fod & snfqafa gt o,
JET 0T IAd P &, g1 &f07 Icaid B o & ol
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68.

69.

70.

71.

72.

73.

74.

yaf 1 =6 Ad) yafd SEE - T8 g9 ufaem
ferauyffr & anfqafd Sl A a1 81 X8 811 goIRI
T I IRADIA P Tg Faidd U [y gHmved
QRde & 91y I gl Wt Sifd & -l T
1 TR PN Q! 61 TH TEHT S 1Y HGTHAa

ufee <ree H B I IR 87

(A) TUT R (B) €18 W

(©) T T (D) 3raTe) T
RRGHTA BT TSI [ fa 30 QR Iud # gial g2
(A) SIfcicp grofaT (B) I gfotaT

(C) SrTa=T (D) T5 g

Hifcies GIOTHT BT T=ET fohaHl Hal I AP BIdh
TSI 87

(A) 17 (B) 18

(C) 16 (D) 20

TR i1 § Hifcier o &1 T o

SR CCR N _

(A) T Tiifdg s B) e 3Ma

(C) & A S OESEREIEEG!
nfaufa &1 iy 2rea & -

(A) 3 (B) Udhc

(c) TRy (D) UT&
qTe-faare Tsg A 1 g 87

(A) It farm o (B) AT g

(C) 3reu favH e (D) 3M1e forg

TS AF® od & Y fhad! Tad Sel URd™
ST & 3l 87

(A) Ul (B) 3rHTa=IT

© g (D) ATgHUSA

fre=r (75-80): TR @) UgaR FEfaied & wed IR

Fb:-

fawey &1 gl

SIS & &1 3 &Y, o IR 81 & UPbIY ¥ dhudhul @
g1 &t gt At deb fegRT e o, 39ferg g S
FH AN IS AT YR S NS I T it
oty 3| g9 1 YIS SUT-30T 88T AP &R
I Mord 19| 39 9T 39 999 & <8 3 a1 A8

75.

76.

717.

78.

79.

80.

7 | Page

T, I 39 IU | B I TRl BT ST 3D
Irat & o ARMU-aeT 81 9@l Ul ARG &
A 3R g & o9 IS ard S & Ul I iy
I 314 3R S1d U 39 HRU Ig Hb S8 oilg-
1 Udid BidT Ul Y¥=ded g6 aHl HRETQR & 3R
fafgal & &4 ot & <@ for;

HEEYR g ST aTell gHR] el Ugdt S B
e | WY Ugd I arel H g1 U1l HU H Fipd
W%@Wﬁﬁgﬁ@‘}mwa—cﬁ%m

TRa® B [P YU I Hud Ut o et dt?
(A) STS & (B) BT &
() T & (D) TER &

@mmw-wﬁﬂﬁ%ﬂ?

(A) TGt (B) Tl
(©) (D) T3t
o - sl & wgl van

(A) R (B) SIS
(€) 3t (D) el
Gl Toq B1 dHH TG 87
(A) WY (B) 91U
(©) ¥d (D) T4
iy fgd MR T ur?

(A) P31 (B) &R
(C) el (D) dTciTd

FU § I 5 ¢l fIRT AT 81 U PUBR 18 US|
&1 AT g

(A) I T
(c) Fif¥a are

(B) WY AT
(D) =t
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1.(C)

2.(B)

3.(B)

4.(A)
5.(D)

6.(D)

7.(D)

8.(C)

9.(D)

10.(C)

11.(B)

12.(C)
13.(A)

14.(B)

15.(B)

Fb:-

General Intelligence & Reasoning

"Dwarf" is the antonym of "Giant". Similarly, the
antonym of "Genius" is "Idiot". 16.(C)
Botany is the branch of science which deals with
the study of plants. Similarly, entomology is the
branch of science which deals with the study of

insects. 17.(C)
Except Malayalam, all are writing whereas 18.(A)
Malayalam is a language. 19.(D)
Year 2012 is a leap year. 20.(C)

Raghu > Raja

Raghu > Guru

Krishna > Guru

Thus, we cannot determined who walk faster.
Mother's grandson — Son; son's wife —
Daughter-in-law

21.(B)

I NTELLI GENCE 5?1%53
36.(D)

E TNI1GILLETCNE

Similarly,

MATHEMATTI CAL 41.(A)

HTAMT AMEL ACII

The word is divided into groups of two letters
each and the letters in each pair are reversed.
ERMBVENO — ER/MB/VE/NO

— NO/VE/MB/ER

— NOVEMBER

Given, 16 +64 -8 x4 +2

After replacing the signs,
16+64+8-4%x2=16

Hence, option (C) is correct. 42.(8)
Hence, ‘# means ‘+’ and ‘%’ means ‘x’.
3+4x8=6

9x4+3=12

Similarly,

12x6+24=3

Number of triangles are: (1), (2), (3), (4), (5), (6),
(7). (8), (9), (10), (1, 2), (9, 8), (1, 2, 3), (1, 2, 4),
(8,9,10),(7,8,9), (3,5, 6,10), (4,5,6, 7)

So, total 18 triangles.

/:n
O \* )

Only conclusion (Il) follows.
The big cube can be cut into 27 small cubes as
shown in the figure.

43.(D)

Number of cubes only one face painted
=(M—-2)2x6

1| Page

=(3-2)2x6

=(1)2x6

=6

In both the positions, 5 is at common face (front
face). So, digit 3 at the side in position 1 will be
apposite to the side face having digit 4 in
position.

The number of sides in the outer figure is
increased by one and number of sides in the
inner figure is decreased by one side
successively in each block.

General Knowledge & General Awareness

22.(C) 23.(B) 24.(C) 25.(C)
27.(B) 28.(A) 29.(A) 30.(B)
32.(D) 33.(C) 34.(A) 35.(A)
37.(B) 38.(D) 39.(B) 40.(A)

Elementary Mathematics

By using alligation,

Let height of the cone be h and radius be r cm.
Given that, cone is filled up to half of its water
level.

2
Volume of water in cone:lx;zx r X h
3 2 2
1 r’2 h
=—XTX—X—

3 4 2

:E(Eﬂrzhj
8\3

We know that,

[ 17z|‘2h = v}
3

In the given question,

Since the distance is constant, speed is
inversely proportional to time.

s, t

2
s, 4
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44.(C)

45.(D)

46.(B)

47.(B)

48.(A)

Fb:-

0__ 5
24 6+(12j 49.8)
60
=
415
= 3t =7.75 hours
4

50.(C)

B
51.(B)
52.(A)

C

In AABC,

cos60° =£

40

1 _AC 53.(D)

2 40

AC = 20 units 54.(B)

X+y+z=0

2,2, 52 2
Now, X +2y +z7° (X+y+2) . 2(xy + yz + 2x)
X< —yz X< —yz
=0—2[x(2y+z)+yz] Yz X
X —yz
C2(-xP+yz)  2(x*-yz) )
X2 —yz X2 —yz
atb+c=2s ... @)

(s—a)*+(s—b)2+(s-c)?
=s?2+a2—-2as+s?2+b2-2sb+s2+c?2-2sc
=3s2+a2+bh2+c2—-2s(a+b+c) 55.(D)
=3s2+a2+b2+c2-2s(2s) [From (1)]
=3s2+aZ+ b2+ c?2—4s?

=a?+b2+c2-s?

Let the total unit of work be 6 units (LCM of 2 &

3)

(A+B)do= g =2 units/ day 56.(A)
(A + B)'s 2 day work =2 x 2 =4 units

Work left = 6 — 4 = 2 units

This remaining work is done by A in 2 days.

. A's perday work =§ =1unit / day

.. B’s per unit work = (A + B)'s work — A’s work
=2 -1 =1 unit/day

B alone can complete the work in = % =6 days.

Let the CP be X x. 57.(A)
SP =16

According to the question,

X=16 100=x

58.(A)
X—16=——xX

100x — 1600 = x2

X2 — 100x + 1600 = 0 59.(C)
X2 — 80X — 20X + 1600 = 0

X(x — 80) — 20(x — 80) = 0

(X — 20)(x —80) = 0

2 | Page

x=20o0rx=80

Hence, CP can be either 80 or 20.

Total age of the family =5 x 24 = 120 years
Total age 8 years ago = 120 — (5 x 8) = 80 years
Number of members at the time of birth of
youngest member = 4

Required average = % =20 years

n 2 4
M_Te 2 % .t —10 years

t t, 5 t

Required selling price = 4500 x @xﬁ
100
=3 3625
36+4x l+§x§
2 4 2
36+2+ 2=18+2
= %:19&
8 8

As, (£C) > (£A) > (£B)
So, AB>BC >AC
(Opposite sides of corresponding angles).

sl | C
O- ] —
\ /fﬂ’”’s

P

T
PT2=PC x PB
64=4x%(4+X)

Xx=12 cm
So, radius = % =6Ccm

In AABD,
/D =180° — (/A + /B)
=30°

In AACD,

/A=30°= /D

So, CA=CD

A

B F C
DE = AF =EC
as, AB=BC=CA
Total production of all companies in 2006
=90+ 75+ 100 + 95 + 85 + 80 =525
Total production of all companies in 2007
= 110 + 60 + 110 + 100 + 105 + 85 =570
Required difference = 570 — 525 = 45
Average production of year 2007

_110+60+110+100+105+85 _ 570 _

6 6
Average of A, B & C in year 2006
~90+75+100

3

95
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60.(A)

61.(B)
62.(C)
63.(B)
64.(B)

65.(B)
66.(D)
67.(C)
68.(C)
69.(D)

70.(A)

71.(A)
72.(A)
73.(B)
74.(A)
75.(C)
76.(D)
77.(B)
78.(C)

79.(A)

80.(A)

Ans.61(B)

Ans.62(A)

Ans.63(A)

Ans.64(A)

Fb:-

= 265 =88.33
3
Average of D, E & F in year 2007
~ 100+105+85
3
= @ =96.66
3

. 88.33
Required percentage =
q P g 96.66

%100 =91.38%

Total production of F = 80 + 85 = 165
Total production of D = 95 + 100 = 195

. 165
Required percentage = —x100
quired percentage =7 o5

=84.61%

English Language

Dermatologist

Bridegroom

Unpleasant consequences

To deal with a person who is too strong for the
assailant.

detected

No improvement

"the" is not required before "democracy".

"for one" is not required before "to bid".

The word ‘because’ is a clue that the sentence
shows a cause-and-effect relationship. Skiing
fearlessly down the steepest trails is likely to
earn someone the reputation of being a
‘daredevil’.

“Reliable” means dependable. It makes sense
that “conflicting,” or inconsistent, standards
would affect the dependability of “appraisals” of
estimates.

Guarantee

Etiquette

obliterate (Verb) means destroy.

Belligerent (Adjective) means aggressive.
Scrimp (Verb) means economize whereas
squander (verb) means be wasteful.

Incentive (Noun) means catalyst.

My aunt exclaimed what a dirty child he was.
The reporting verb becomes "asked", the noun
comes before verb in case of interrogative
sentence.

The logical sequence is RPQ.

The logical sequence is PRQ.

fU U TR & SRR, SRR & forgTe § a8
I 349-34 MUt o7 3rdfd 39 ara S
SRR

Trad RR R o7 | 39 91 § 16 & ey
¥ 9% &gl T § fb 1A 311 g7 AT Sl
e AN 94 8T YT dfed R oft s
BN IERE R

T G § gd I | faorell weda aur
TG g9 B! 1 T H HE TS @ 190
AT AT SR B AU 4F % 99 O &
HRUT G Y|

SRR wea &g WISt &7 Tee § et ardf
BIdl  TAPI-8aId! Sal-aidl AT Geobl AR

Ans.65(C)

Ans.66(C)

Ans.67(A)

Ans.68(D)

Ans.69(A)

Ans.70(C)

Ans.71(C)

Ans.72(C)

Ans.73(B)

Ans.74(A)

Ans.75(B)

3 | Page

%ﬁqa‘raﬁaaﬁvqﬁa@wrﬁwﬁﬂ
|
TR & AR, TH O Slal A FHIRBI AR
R I T AFAF & by fFariugl dal §
3 e H s 81 ¥ § S&fe Ueid
IT 10 gl 74T @ Ol UeTs & a R} Y3k
SR 1 & STav[g d Wd & forg Revd US|
TeTHaft 7 X S TR 7T SR 9 SRR g
%wawﬁmﬁwq@lmm
J IHPRWBI dR W T S AFF T Bl
fora 3fiR Toat =T8T MU TR B uged dal 9
3 ek H s 81 ¥ § S&fe Ueid
Wmmw%a‘ruaéﬁaﬁravhm
“qrgd RR R U1 3R 9ed «rudr” I8
U gad aTd ¢ Fifes 399 &l arag Jwferd
g1 o/ areat § S-a1 @ ¥ ifi IR gt
TEREYd S § I8 8 (3R, a1, T,
JEE T 3R U B e ST
U= Tec # SMAIE IR ST, T, 3, 3 &b
e A WR 3F W T HI 39, T BT 371,
3R 3 T 319 3R 3 T T B AT g1 9 -
Tl + 39 = Ufdd, W + 3 = g

<|<qq>|m$rdr§d4| qolmqoqlﬁfm%ﬁ‘rruﬁ
%‘Jrq'u?@?n | 3Tl el fammd wre
I-H1, O YA qg

mRE‘an?ﬂ% gﬁ?aﬁ&ﬁvmqﬁmaﬁ
far<ol theft g1 &1
FHIfcicr GOMAT BT T=AT 16 Hensll  cidpd
I IHBA §1 I TSR "M R #
I=ad SAifd gol @1 sfaufagi waryfas®
gl % Aie dd U g wew dar 4 qul
e U
TRd TR & S Yo &1 TR T
% <" & I fGaw ¥ wERd gl I feeh
o g o uifa IRk denfad gu 8t wR
Yol & ford o ufderr ushe 81 Iahd 3|
faufg &1 fadm e “fRivE” g1 Jafe
3 A fawen snfaufa &1 waiuarl wsg
%@uﬁmaﬁ%m@mmwﬁ
|
are-fdare ez # O g 71 Avie R
IHAId: & Wea) Bl Siisdl gl 3R Sl &
e IH%d Ue §A1aT 8, dfe aFl &l
W KT S Xl ¢ | S SR-TaR, ST —
fUe1, $a, T onfe |
o A& ¢d & 1Y Yulas &1 T Siel
URATGSdT & AFY & 3% d gl S a8
3T 3MTGIE Udhe drdle| S UhR I
o1 Bl T3 Tle faRRdt g1 St UeR
ToAH® od &I Hfadd U a1 FUt difcd
& 0 Y Bl g3 3
GH P g1 & UHIT J Hudbyl o gt A
Hiifep SIS T faT | el 7osll b {3 g @l
ot gfery g B o et F Ter R @Y
84T IRR & 3ex -1 Ufay 81| &a1 o1 3 Tguf
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Ans.76(A)

Ans.77(C)

Ans.78(D)

Fb:-

g ¥ ST a7 9 O § T8 U
arg, FHR|

ST WUl & W AR™UN - a8 81 bl T
Fife & o9 off SR Fdpaar 81 daR
fApad 39 999, 39 94d & s 9 @
T Y| 3T 39 3 H IAHd 3 -T5]|

oed A fafgal & ot § @ Fife 396
Fd ¥ 9 et | o Rifgar iR 7 o1 <9
fore arges A fafga &1 2t o v

I e BT TIH o U 7| Wpd & off
eq AT Y UiRafd U fomT fig=t e o

Ans.79(A)

Ans.80(C)

4 | Page

3T | § TN Weq HadTd | o — T, 1M,
o, 73 3 .

|IY P H TR a1 U1 B3l P e |
D31 36 P TGN UT Sl B el T AR
Cleft & FAT Y| 1T YD qUT BTe |
FU T 1 8 ool IRT T 61 T DR gAls
oSt arey fyd o §) S St o @ 9
3 IyaTeRd B1d BId g S Ueb Uy ared 4
9= R ¥ 39 i a1ed Fed 3 99 - Rl
forareny, S, o, <, <t o
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NIESMUS

...Aeep.s you ahead

TEST FORM NUMBER AT 3iF : 160
INSTRUCTIONS TO CANDIDATE A T : 80

fuiRa a1 : 60 fame

9l BT B PR W UgSl (IR fAIeel &l &9 | U3 |
(1) =9 gRaer 9 80 W& €, & f6 @at aR 9F # fiforg 2

9rT-(I) : General Intelligence & Reasoning (20 v=9)
qrT-(II) : General Knowledge & General Awareness (20 y=9)
9r7-(II1) : Elementary Mathematics (20 v=9)
91T-(IV) : English Language or Hindi Language (20 y=9)

(2) =0y sifvEr € dorr W a_IER 3 T |

(3) Tl BT T FHIAT URW B | TS AP 59 RABT BT S Sl A1y IR I8 GAREd axr amfey & gad i
TS SURIT & 3R PIS U8 B AT 9acll gl el & | 3R AMUSHT 39 JRAd § 3 aW ferar 8, a1 musd! gra 59
el BT |

(4) vAP 9o ¥ THRIED H- BT & Rife TIPS Told SR @ oY 0.50 3w HIe faar Srwm |

(5) omUPT FRIeTd gRT IR YRADT ST | 1 ST | STUDT U1 BT Tl HAT TR B F Ul AT A1, A AR, T
AWM /JATgS! 3R /O BT A ISTR—YRADT IR A R HRAT BT | 3MUDT ITR—YRed! H FeiiRa e wR
T BEAER A1 BRAT BRI | 59 (<= &1 Q0 GR8 ¥ ureld fhar Sier A1fey, fRras! 7 $_ UR D! STR—YRIBT Bl
Hedleh=T T8l fhaT SITQT SR 3MTUeh! I’ 3feb fedm Sre |

(6) TR dac WA AT «F /] 9 U7 §RT SI— IRADT TS Ued G & AT Mol I [ IRE I <Ab 5D
femgmar ST =2y |

(7) OMR SR gRAST &I T 7 gRT Sfiem SIRAT | Ife {6l Reafd & Sudter SR, arded o3 3§ &1 T SFeR 4
ST R Y, AT 37 BT IMAe PR B &aT SIRAT |

(8) fierd ot rgAfa e @ a8 & B URIe el BIS AHT 2 |

(9) SRh H ¥ ol N e &7 rgured a3 H A%e SHIGdR &1 YUYt HRIATE! /JAHT & folt STRERT F9s1
HqHAT 2|

(10) = STt &1 b Al STeal AR A | Ul & SR < | HY FaTd Hiod & Fahd 2 IR AR M 81 9ahd 2 |
el e W areT wHy T 9 |

(11) A9Ed BN R IR FaR SYSHRY], Wl Hel /R H I3 dRe 9 Ul & | B o1 37dcd 37U Aiaigel & a1
e IR AR SUBRYT Bl §€ HRD U YT U Hal g FhdT | 99 BT Soaied B IR Ided & faog Sfad
HRIArET B SR 3R S@aT e f faved fovar 1 Aahdr 21

(12) STR—9F W DS IH G A8l fbar ST A1y |

(13) 31 it IFNEaR Il GT B A Ul Gl HeT e Bl Fahdl 2 |

g I% ATDT I§ T JRADT WA BT 7 HET oY a9 b 1 9
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General Intelligence & Reasoning
frder Wy 1 ¥ 2): A ™ fopadl & I Jafd

TTeg/31&RI/HAT D AU
1. ﬁmmzﬁmuu%mmﬁ:?
(A) Tt (B) ufafgd
©) @ (D) BteT
2. Wﬁfﬁﬂ?:tﬁ%ﬂ::ﬁfmﬂz?
(A) |1q (B) BIS
(C) yaht (D) T
fAd=r Uy 39Ut 4): 37 Ul H fou v et # ¥ fww
HBHI/e5/3HER BT AT
3. (A) BT (B) HerATAH
(C) uf3spT (D) TEHIT
4, (A)T¥ 2012 (B) 99 1998
(C) 9 2005 (D) 9 1997

5. o, 7Y ¥ 4R gadT § aUT Y, = ¥ A gadl g
PN, T Y O Tl 8, O I ol I el 37

(A) Tl
(B)Xg
(C) pwm
(D) JTd T8 fohaT S Hhall
6. EU A Hgl, 'Tg ASH! I Tl & Uld B Uat g
3T I TSP ¥ fhd THR Taferd 82
(A) far (B) &rat
(C) ufa (D) IR

7. ufe fodt gikfae H™T H INTELLIGENCE' oI
‘ETNIGILLECNE’ foraT ST €, o “MATHEMATICAL”
It yoT & R forar SR
(A) LACITAMEHTAM  (B) AMHTMETACILA
(C) TAMMEHITALAC (D) HTAMTAMELACI

8.  gfe fodht Tidsfae HTWT |, 'LBAEHC' T 'BLEACH'
forar ST 8, Al ‘NBOLZKMH' It HIeT H o forar
STAT?

(A) OBNKZLHM
(C) BNLOKZHM

9. 3gfe fedft Hikfaed W H 'DECEMBER &I
"ERMBCEDE’ foRaT SITdT @, al 'ERMBVENO’ I} HIST
o 7 forar SaT?
(A) AUGUST
(C) OCTOBER

(B) LOBNHMKZ
(D) MANKYJLG

(B) SEPTEMBER
(D) NOVEMBER

10. TG '+ 1 31 'x', '~ BT 3 '+, xBTS — U
:+l$[3{Qf‘+’%’Fh'16+64—8X4+2$|-I”:[az”

gRT?
(A) 12 (B) 24
(C) 16 (D) 18

Fb:-

11.

12.

13.

14.

15.

16.

17.
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g3 #4%8=6TU9%4#3=12,A12%6#
24 =7

(A) 4 (B)3
(C)5 (D)6
fafafad foa smal o 9 39 gi+e s - faw e
Ut & S et oY b <id1 82
grel, @S oid, &4
N N )
Oo @ 09 @
(=) {b) () (d)
(A)a (B) b
(©)¢c (D)d
2 €t 18 snpfa A fpan By 82
[} JIIII '-,I'"I‘
%f \ \
(A) 18 (B) 19
(C) 20 (D) 21

frafifed vy § e o1 4§ Y i3 W 8 e
3 &) fsp (1) 3R (1) AT T &1 eue) foaR
BT § P HYT I § I8 98 IH=IG: J1d 9t
firsr w8 g1 3muest Fofa e & fp o o
HYT H ¥ HH-91 AT =0 J et ey Rbren o
Jhdl gl 3 IR oI [y Fifru|

HYF: |. HIS TS, - Tl g

1. g -z Hu B

e 1. 3o o, &-3é TS B

1. s -2, T T ]I

(A) Fad ey (1) TEt B

(B) bael sy (1) TEl B

(C) s (1) Tt (1) S It §1

(D) 7 8t syl (1) 7 ) b (1) T B

Te 99 & gt 4T &) did 31 T TA & uyd 27
TR THR & BIC - Bl g9 H plel oidr g1 fba
Bl U9 g {5105 had T Tag W Utar 7 gRT?
(A1l (B) 6

(C)8 (D) 12

T U &t of AT A, 3P 4 P BaAd & ORI
THddh R 3id J1d D]

D @

(A)1
(€3

frofafed oy & & 72 I enpfodl & ¥ 39 gAY
St Uy sipfa A fAfgd /7
T P

7
IR 3BT

(B)2
(D)4
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18.

19.

20.

€

21.

22.

Fb:-

/‘
[a) (b} ()
(A) a (B) b
(C)c (D)d
TR el SIS B Uy il § feame e fom
IR AISH Il ST dl Wi & d1g a8 fbg
wwﬁ@wmmv
T SMpfr:
" w o =
.i'_.- I-..I...I
IR Sepf |
@ ®) © @
(A) a (B)b
(C)c (D) d
& T IW Mpiadl F I HH-AF pla Uy e
P TG ofd Ufias grT?
monday
(1) yadnom (2) xebnom

(3) Aequow (4) wouqah

(A1 (B) 2

()3 (D) 4
§ T IR il H A 39 pfa B ghE S B:
&Wﬁﬁwaﬁmaﬁwmav
U 3MTapfoT:

O ala| Ol -
I BT

(A ([ |[2]] [V

(1) (2) (3) (4)

(A) 1 (B) 2

(C)3 (D) 4

eneral Knowledge & General Awareness

YRd & 1% Ifgpgdrae . J d&fd gl

(A) Ufdeg ImuifereT  (B) SHfed AT

(C) =T THied (D) =T adadr

B 8 U Fol sarardl "Fsgasd™l qudT”
fpg e R g2

(A) I (B) ST

(C) =9 (OGEIEESIG]

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.
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THEA AN PES B GRT YR fobdT 7747 T
(A) TH.P, Tieh (B) t5f. faas
(C) TS (D) .. aaT

frofare wfdaal 8 3 o s Steme & fog 8t
SSRIRIK

(A) Ueed 3R I

(B) T 3R B0l & &1 & ATdH

(C) TEPIST 3R SHEHGTR

(D) faoTR 3R SgE-T AU

YR IS G & 59 9 # ugal SR fam
¢qS] AT T UT?

(A) BB T, 1920

(B) AR & H1IU &1 A1 T, 1920

(C) AER ST, 1929

(D) BNURT S I, 1939

g & aie &1 3ol SaTed SX B | 2
(A) Srcifaar (B) foreft
(C) g (D) foaTsa

g & Q P 1 TR STUH BT AR Hel AIdl 872
(A) AT (B) 3MTHT
(C) TPs (D) feifRr

e U (™ &) Rt Uerd 7 371 91T §, ol S9b
_ GRI 3T STdmE 9 SRISR &IdT |

(A) A fTRMA BT HR  (B) o/ &1 9@

(C) M1 &1 3maa- (D) &9 &1 gcd

e U 0 b b Ig & H o S el & off A
EHIMNRIFAMAT_ RMMR FRarg|

(A) EHI FaTg & URad dI ax

(B) Had RS oo 1g Udg

(C) 9a1g yaTe H Hd uRkad-

(D) ad 3ifcH gad g ydg

A F I P T34 & R TH JHIEY &
91 HTa g1 o1 § 1

(A) Tl R AZ¢T WRa

(B) Tdl R GehT3s URd

(C) I R FARZS URd

(D) TTEl TR TR S IRd

IFd HOHIT =T & S I & [ gfaRiy &
oM H TgRIdl HRd 87

(A) TgpIHTE (B) AFIST
(C) ggiftra (D) femmprarge
IR Folf BT G TST fhaRiex DI IT 82
(A) ST (B) TCIS3MT

(C) b (D) R U
faetmdt | Feddgarel

(A) Tpdf (B) foreg &t o
(C) F-a (D) ireAf
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34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

Fb:-

foeht ot TR IR & e 6t 8 areht s
P FEUH SEE G

(A) Froft gfepet (B) TR 3fepel

(C) Trdwife 3fdet (D) T3 53

I8 & &R o R § YR ZeR /3R dF)
TR F T TH A T IUR A Ibhd &, 39

CRSIGIG

(A) THIMSHISMAR (B) TAIMSHTSMIR

(C) THITA3IR (D) §& R

HYR HT 3TYC [SA HIH-I1 T8l 82

(A) DTS (B) ATSY

(C) ¥R (D) A

A URd H Ga-rH Sfiqiad &f RGO _ gRI
CARIERI

(A) SIfRTE ot (B) g

(C) BI- dl- 3R- 3rdSHR (D) g™ BTHR

URA Afqu™ & by =g & dgd, iR &t
YT a1 ol gUTet & Idy & I9g &1 Bl
Sifrfram fireiRe g & ar] A6 fasan S wavan 87

(A) 356 371 E (B) 3fJ=5G 371F
(C) 3fTw8G 371 H (D) 3f®¢ 371G
SARTT ST HRA & g Isg # fRUd 872

(A) TlgH §a (B) 3nfgan

(C) dTT (D) 3fiy yax

fafafed & ¥ &F a1 X U8 TSANT WS o
T el 87
(A) qudy

(C) UTfha™

Elementary Mathematics

3l feT-3rerT fhreo F A IR B & Heg &1 U
HUL: 5: 3 R 9: 7 Bl fbw orgurd & fAsor
TR BT i =11 § $77db S1JUTd 4: 4 B 92
(A)5:1 (B)5:3

C)2:1 (D)3:2

% SufR g e i 97 &t ww § au
TG (V) B, 3T SaTs & MY R T R gt
S| U BT A fara g2

(B) HRd
(D) =4

V V
(A) 16 (B) 3
Vv Vv
©) 7 (D) k)

3 fir, ggan diex I O a1 gy Yeme! 9§
U Tide] | g Ugaa & fo1g I 3RY &R g
Tiex Asfosa &t 7fd 30 fob 1t /et aur Yarmst &t
T 24 fb A /deT 81 Ugd drel 6 €e 12 fie H
3O Tiqe] WM I Ugd ordl ¢l genT 8 Tiqad
R IR fora- 99g ¥ ugam?

44,

45.

46.

47.

48.

49.

50.

51.

52.

53.
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(A) 8.00 B¢ (B) 7.25 G

(C) 7.50 ©¢ (D) 7.75 G

AABC B Ifg ~C = 90°, LA = 60° 9YT AB = 40
SBT3 §, dl AC BT HH R 82

(A) 10 3PTS (B) 15 3T

(C) 20 318 (D) 25 318

X2+ 2+22
AR x+y+2=0%, A o T HH T 82

(A) -10
©1

(B) 0
(D)2

gfda+b+c=258 o (s—a)?+(s—b)2+(s—c)>
T A T 2

(A)s?+a’+b?+c?
(C)s?—a?-b?—c?

A U1 B i) T SRi 1 3 fg9 # R Thd §1 3
B TP T SRY B ¢ U 2 fad ueTd B Hrd
BISHR Il ST g | afg B 2 e e i g g,
A B 3Pe IY B P fha o & T HR Tebell 87
(A) 4 (B) 6
()8 (D) 10

afe TP RAMTH 2 16.F forg o=n e 8, & g1
U= 3% %0 I & SRR § | SRATH &1 5

(B) @%+b? + c? - ¢
(D) 4s% — a2 — b? - c?

T 1A DIfoTy|
(A) T80 or Z 20 (B)Z 25
(C)% 40 (D) 50

T URAR & 5 T BT 3iad Mg 24 98 g1 IS
T B Yo P 31 8 9 &, o Jod DI T
& O P GHY URAR BT 3Gd 3y @i 7) &4 o2
(A) 16 (B) 20
(C) 24 (D) 32

5l # Teb A AR AYRY <A1 B R G @Y
&1 19 71 &1 ot 81 fbaw anf & 98 oie T |
SA?

(A)S (B)8
(C) 10 (D) 15
10% B W TP I PT fdhd ed ¥ 4500 §, IS
3 27.5% Bl <t s Yo T 87
(A) 4000 (B) % 3625
(C) % 3500 (D) % 3125
, 1.3.3
364 W —+7x2 P HMH 1A DI
1 1
(A) 192 B8 17
1 1
(©) 95 (D) 20

Th ABC H I ,A=55°qur ,C=80°¢ o g &
J P I 87

(A) AB>AC>BC
(C)CA>AB>BC

(B) BC>AB>AC
(D) AB>BC>AC
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54.

55.

56.

A BT H% O € IUTPT, T R U WX 34T §1 BC I
& AN gl afc BC FGHT oIl §, df I8 P TR =i
a1 PT ¥ fiyerar g1 PC = 4 Qf. qur pT = 8 Q.
fear g1 99 %1 s @, §) Jd S|

(A)S (B) 6

<7 (D)4
TS spfa ¥, g A O 1 91 By wE 82
D m

.
x\"'-\.
CH N‘m&
- . -Hl'“\___‘
m| R

B A

(A) AB = AC (B) AB = BD
(C) AC = BD (D) CA=CD

ABC U& THaTg Byet g1 g D, E a1 F &1 Hoe:
AB, BC TUT CA & e faig & yoimaif W feran S g,
fS99 AD = BE = CF @I, @ AE, BF AT CD dad
By e A g?

(A) HSTg (B) THfgaTg By

(C) THebToT Pyt (D) &9 A BIg Tel

fre=r (% 57 9 60): 9 f&ar a1 gUs R 9 2006 U

57.

58.

59.

60.

Fb:-

Production (in lakh tonnes) /
TeqrEd (AT T 0 )

Iy 2007 H U HUH & 6 AU BT IdTEA (@R
T H) F AT 3

0 2006 2007
120 110
110 oy w105
1001 90 - sl 5085
80 75
60
60
40
204
0 T T T
A B C D E F
Company / I

¥ 2006 YT aN 2007 H Tt fqUTT & Fa IdEA
o 7 SR (@G e H) 82

(A) 45 (B) 75

(C) 100 (D) 125

¥ 2007 & Ht fAUTT &7 i IATEH (@R < H)
T 8?

(A) 95 (B) 92

(C) 87 (D) 93

Iy 2006 H fAHTT A, B 9UT C &7 3id IdGH, a9
2007 HfIUNT D, E T F & 3id IdTe BT fba-T
yfawd 87

(A) 109.43 (B) 90.37

(C) 91.38 (D) 106.43

A auf BT fAUFT F &1 geg IdTeH, Al IS &
faUTT D & Fa ITeH HT fova UfaTd 87

(A) 84.61% (B) 78.49%
(C) 78.47% (D) 79.29%

English Language

Direction (61-62): In the following questions, out of the four
alternatives choose the one which can be substituted
for the given words/sentence.

61. A physician who specialises in diseases of skin.

(A) Altruist (B) Dermatologist
(C) Chiropodist (D) Neurotic
62. A man who is recently married.
(A) Boon (B) Bride
(C) Bridegroom (D) Broom

Directions (63-64): In the following questions four alternatives
are given for the idioms/phrases being underlined. You
are required to choose the correct meaning of the
Idioms/phrases being given.

63.  Eacethe music
(A) Dance at a party
(B) Unpleasant consequences
(C) Compose a song
(D) To be in hurry

64. To catch a tartar
(A) To meet with disaster
(B) To deal with a person who is too strong for the
assailant
(C) To catch a dangerous person
(D) To trap a wanted criminal with great difficulty

Directions (65-66): In the following questions, a part of
sentence is underlined. Four alternatives are given to
the underlined part which will improve the sentence. In
case no improvement is needed, mark your answer as
(D) i.e. “No improvement”.

65. | saw throuah the trick and was on guard.
(A) anticipated (B) detected
(C) witnessed (D) No improvement

66. You may appoint whoever vou think can do the job
most efficiently.

(A) anybody you think (B) someone you think
(C) whomever you think (D) No improvement

Directions (67-68): In the following questions, some part of
the sentences have errors and some are correct. Find
out which part of a sentence has an error. If there is no
error, your answer is (D) i.e. ‘No error’.

67.  Freedom and justice were (A)/ the two cornerstones of
(B)/ the democracy from the beginning. (C)/ No error

(D)
(A) A (B)B
©c (D)D

68.  Either a certified check on deposit (A)/ or a valid major
credit card is required (B)/ for one to bid on the good. (C)/

No error (D)
(A)A (B)B
©c (D)D

Directions (69-70): In the following questions, sentences are
given with blanks to be filled in with an appropriate
word. Four alternatives are suggested for each
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69.

70.

guestion. Choose the correct alternative out of the four
as your answer.

Carl had a reputation for being a because he
fearlessly skied down the steepest trail.

(A) Leader (B) Dreamer

(C) Coward (D) Daredevil

Conflicting standards for allowable radiation levels in
foods made appraisals of the damage to crops
following the reactor meltdown extremely difficult.

(A) Reliable (B) Private

(C) Intrusive (D) Conscious

Directions (71-72): In the given question four words are given,

71.

72.

out of which only one word is incorrectly spelt. Find the
incorrectly spelt word.

(A) GAURANTEE
(C) MAGNIFICENT

(B) ITINERARY
(D) WRITING

(A) ETIQUETE
(C) RESTAURANT

(B) EXQUISITE
(D) SCAVENGER

Direction (73-74): Choose the word which is most nearly the

73.

74.

SAME in meaning as the word given below.

OBLITERATE
(A) CONSTRUCT (B) ANNIHILATE
(C) REVIVE (D) INITIATE

BELLIGERENT
(A) ANTAGONISTIC
(C) DANDY

(B) CO-OPERATIVE
(D) DELIGHTFUL

Direction (75-76): Choose the word which is most nearly the

75.

76.

Directions (77):

77.

Directions (78):

78.

OPPOSITE in meaning as the word given below.

SCRIMP

(A) SKIMP (B) CONSERVE
(C) SQUANDER (D) CURTAIL
INCENTIVE

(A) IMPETUS (B) STIMULUS

(C) ENTICEMENT (D) HINDRANCE

In the following question, a sentence has
been given in Active/Passive voice. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

“Ooh! what a dirty child!” said my aunt.

(A) My aunt said what a dirty child.

(B) My aunt exclaimed what a dirty child he was.
(C) My aunt said what a dirty child he is.

(D) My aunt exclaimed he is a dirty child.

In the following question, a sentence has
been given in Direct/Indirect speech. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

He said to me, "Where is the post office?"

(A) He wanted to know where the post office was.
(B) He asked me that where the post office was.
(C) He asked me where the post office was.

(D) He asked me where was the post office.

Directions (79-80): The following questions, consists of a set

Fb:-

of labelled sentences. These sentences, when properly

79.

80.

sequenced form a coherent paragraph. Select the most
logical order of sentences from among the options.

An equitable distribution of

P. for a sustained quality

Q. of life and global peace

R. resources has become essential

(A) RPQ (B) QRP
(C) PQR (D) RQP
Your absence has

P. gone through me

Q. through a needle

R. like thread

(A) PRQ (B) PQR
(C) QPR (D) RPQ

=T (61-67): R 3T U Ui Y UgHR U MU UK

61.

62.

63.

64.

6 | Page

Te1/9eY UG SR aTd! faded HI g

SRR & TR § 98 Hd &-9-3 TuTd T | Wai o
SR-a9 YT T T U1 dfeE 99 o A 39
[T STl UT| F1a- R OR T 3R sied agan| b
aﬁwmﬁg@wﬁmﬁﬁﬁﬁﬂaw|
NI R A RIRET gs @l arurgar oiH 9
IR iR FR Wl TS [Afe gal A & 3R Tt
Ai-1-, fergTen a8 I Yaoi | 51 7| Y98 g
o T YT &9 S D] bR HUR aTdl BT JichdT 31T
$HRd & IsRETd Jd a1l AR ¥ & ORY A, A
I et T A1 AHEE FHAS SR qHIeT e
7| SIS oe-se & SRI-J7 TRIHR TIHI 8 off 8
| Tpdl BT CISH g <Y §H ol feal A SHarwl dR
W S TR & Byan fear, Jefe gl A

FIRTT & 8T ¥ 98 I1d 349-34 MUTd oT" arey
HTHT I
(A) TGS eI R T &

(C) 9gd SR g3 ot
(D) 3(ehTdT T HRUT AHT T T

g1 RR TR 1| 39 YT BT MR g fob re:

(A) 3T TIhT U (B) @1 41
Ul (D) 319 aTeT U1

TR & 3MYR W Hgl o Toba & & AT fe:
(A) AT IR T A G A

(B) T SIR & 781 F W A

(© AT TRT F AT A G &

(D) O TR # T T AR STl §

Tl e b1 4T &
(A) Sgd BP! gal-sidl
(C) I BBl

(B) JECTYR SR
(D) I Sar-siar
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65.

66.

67.

BH Y fedl 3 SHR®I dR W A ' HAH BT
Tgar foran|” areg § oRass A g forg fagiwar &)
FAT§?

(A) M ¥ eI

(B) STRRT &1 Tl o a1l

(€) ugrs ¥ fiss

(D) BV T AR 9 ardl

o T = A S 8T HATn?
(A) St T TEf aEa & (B) S SR ¥ S=d
(C) SN UGIH & (D) & S A

g9 RR IR U7 3R SIed AgdT” a1 gl
(A) ST (B) Ghdara®
(C) TRd (D) T3

=T (68-74): TN B g Fufafed # gew IR

68.

Fb:-

fawey &1 gl

wifder! gfofar 39 3w Y sga ufed fafr ¥ sg fem
IR HRATY § BI3-9-Pls I09d, Hal, FMH AT

1T ¢ | [RADTA BT QUT Tl 39 T 3 R dHa
R B gl 3 A, fe=mt U,
W,qza‘rsﬁ-uﬁ,mqg-ﬁms‘rw%@g
3y et for 39 o O™ &1 uiffe® fua Iafaa
B 33| 3 o7 HeW T AHPed & MUl BT
3T HATT ST 81 DT H O UBR Wishal
¥ guf I Suel dEa Ry faRon ¥ ueiRa
B2 | I UPR 74 o 7 off {5t Soraat uee
SfIYS &1 sfaufa g1 wWrvifde g1 7% A

el &l
Te for foesht ot v eror & forg & snfanda g o,
JE] &/01 34 BT 5, 5T &/01 IR PR G & o1
' yafd S - T 4 ufdeon
ferayftr & anffa Slex fAa 934 81 %8 81 goiRl
D1 g8 Faiite wod fafy gumitea

3IHT FRAT g1 Y TR, PUES' S HEHY
U 3MMBTE B! Udhe B ¢l [ AFdbed & WY 34
qofas &1 T SIS YR SHdl & 799 &
3IHd g | 31T a8 MUAT  ATGIE Udhe Hal g

Ufds Yeg B 19 A T2
(A) TUT R 8) A Ty
(C) U | (D) 3raTe IR

69.

70.

72.

73.

74.

YREHTA BT TS 5 fe 30 R aud & g g2
(A) St gfof (B) Il
(C) ST (D) BIS g

CAIGED %@fﬂﬂ DI T fabaHt Hal U AP Gld]
TG 87

(A) 17 (B) 18

(C) 16 (D) 20

TR T F Sifcle giomT &1 Ted s
SHfGaY 82

(A) T3 Tifde g (B) e 3
(WRICEIRES (D) 375 A P15 gl
snfaufa &1 i e & -

(A) 34 (B) Udhc

(€) fa”ivma (D) Ul
a1e-f3are Tsg & & 1 e 82

(A) I0f TR o (B) T fg

(C) 31eY forme forg (D) 311¢¥I g

% AF® ¢d & Y g R Siiel HRd
ST & SH 82

(A) U= (B) TG

© (D) IGHTSA

fd=r (75-80): TN &) UgaR FHfaied d wed 3R
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WIS F a1 A &, o W &1 & yopiu I HuHt e
X 1| gt AT e g1 38T o, iy g il
& Uil O ST Al 3 YoIF & e g o= T et
¥ iy 3| 89 ST WIS SOT-3TAT §8T - AR R
I Ford US| 39 909 39 99d & €8 I a1 Al
T, I 39 I H B I el BT ST 3D
|Gl & Iy TREV-aTET 81 IH1 UTl ARGTR &
% 3R T & §F TS aTel 39 & TSl ¥ Haay
I 3 R S1d Y| 5 DRI 98 Jb ST Joild-
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81 3Yb IR T 7 IHH-IFbbR Uh-Ueb aell
Bd R FU I 3 ardl iy Juf TAHR W
Hgbe A

75. OGP P fbTd UHIg T HUHUl T Jat A2
(A) STS & (B) T &
(€) T & (D) TR F

76. ST fHud forg TR - aTRH 71 gt U
(A) ST (B) T
(€) T (D) URI3it

77. OGS - RISl & wgl van
(B) &
(D) Frer

78. iU Xec BT dTH Teg 87?

79. W7 fogH R T o

80. P H <O € a1 IR &f & TP BUBR TS U]
&1 I )
(A) TRF arT
(c) Fifsa ar

(B) YK a1
(D) =1
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1.(C)

2.(B)

3.(B)

4.(A)
5.(D)

6.(D)
7.(D)

8.(C)

9.(D)

10.(C)

11.(B)

12.(C)
13.(A)

14.(B)

15.(B)

Fb:-

General Intelligence & Reasoning

e, e &1 fIdm g1 3 UPR,
gfIUTRITEY, R BT faay g1

gwfa, foge & U@ W § oo O 9
Tfd 81 34 UbR Bic fogm, foye ot e

AT g o B F Fafd B

AAUaH & Bed, 3 It forg @1 §

Safe Ty T UToT ]

¥ 2012 T Ay a¥ g 16.(C)
XY > ol

Y > TF

UM > = 17.(C)
Y YDHR, §H F1d 78] R Thd & [ Ja Al 18.(A)
P IAd 5| 19.(D)
AT UId - 3, §F 1 Ufel > 9 20.(C)

I NTELULTI GEWMNCE

ETNIGILTLET CNE
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T b T Tl M g3 § I e
=(M-2)?x6

=(3-2)2x6

_(1)2x6

a‘rrﬁ@rl?-rﬁ 5 IWIFY Bas & (M )l
3 RUfd 1 ¥ i 3 @l v Rufq 2 &
3@ 4 & faRId g

ITedt i o Uell &1 T U ¥ 96 St @
3R 3P AT H Y&t o1 T Udh sAlp
T it U I °e Wdl gl
General Knowledge & General Awareness
21.(B) 22.(C) 23.(B) 24.(C) 25.(C)
T IR, 26.(B) 27.(B) 28.(A) 29.(A) 30.(B)
MATHEMATTI CAL 31.(A) 32.(D) 33.(C) 34.(A) 35.(A)
36.(D) 37.(8) 38.(D) 39.(B) 40.(A)
HTAMT AMEL AC I
e UAD &) 3eRT & JHg! & §ieT T g aul
T g H 31&R faudid B 4L.(A)

ERMBVENO —» ER/MB/VE/NO

—» NO/VE/MBJ/ER

—» NOVEMBER
feaefP 16 +64-8x4+2

g @ ge |,
16+64+8-4%x2=16

31d: faped () T 2|

3 4 b1 3t - U1 ‘%’ BT 3 <’ B
3+4%x8=6

9x4+3=12 42.(B)
S UPR, 12x6+24=3

ISz

4 7

Ayt @1 g8 8 (1), 2. (), (4). (), (6). (7).
8), (9), (10), (1, 2), (9, 8), (1, 2,3), (1, 2,4), 8,
9, 10), (7, 8, 9), (35 6, 10), (4, 5,6, 7)

aﬁwwﬁaﬁr |

o)

Had sy (1) ISt g1
T 6 39 SPpfa A 98 T B 27 B U9 |
PHICT AT B |
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Elementary Mathematics

Alligation & TN 9,
> S
8 \ 4 / 16

8
5 / \ 1
8 8

5 1
3ch:, I U = 5 : 1

p—

T 3 T B FHams h T B r A B
feam 3 b i, 3t SamE & ond iR I
tIFﬂ‘J-RTE\fﬂ%I

% H U 7 I —gmx@zx[g)
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43.(D)

44.(C)

45.(D)

46.(B)

47.(B)

Fb:-

- X +y2+2%  (x+y+2)? —2(xy +yz+2X)
X% =yz X% —yz
:0—2[x(2y+z)+yz] Y - —x
X2 —yz
22X +yz)  2(x° - y2) _y
X2 —yz X2 —yz
atb+c=2s ... @

(s—a)+(s—b)y*+(s—¢)?
=s?+a?—2as+s%+b?—2sb +s% +c?—2sc
=3s?+a’+b?+c?-2s(a+b+¢)

=3s?+a2+b2+c2-25(2s) [(1)T]
=3s?+a?+b%+c?— 482

—a2+p2+c2_¢2

T % S &1 $d SHTS 6 DTS § (2 AT 3

HAH)|
(A+B) do:gzzsﬁmﬁlﬁ?
A+B)FH 2B BRI =2x2=435

AT HRf =64 =2 IBTg
éﬂﬁqmaﬁAmzﬁ?ﬁqnWw
|

Amuﬁﬁqwm_ =1 gHIs/feA

- B &I Ufafed & ao‘ref (A+B)F BRI-A
kgt

48.(A)

49.(B)

50.(C)

51.(B)

52.(A)

53.(D)

54.(B)

55.(D)

2 | Page

=2-1=1%®/faA
gkl =?=6 &7 o R THar B

A 5 FT e 3 x B
fapa ged = 16
TR,

100X — 1600 = x2

— 100x + 1600 = 0

— 80X — 20X + 1600 = 0
X(x — 80) — 20(x — 80) = 0
(X — 20)(x — 80) = 0
x=200rx =280
3fd: 9 Jed I dl 80 TT 20 B bl g |
URAR Bt Hf 3T = 5% 24 = 120 T
8 9% Usd T 3 = 120 — (5 x 8) = 80 TN
Il BIC Yo & OFH & gAY Yol Bl
T = 4

Sty fahg el = 4500 x 100 E 05
=23625

36+4x 1+3x§
4 2

ST b, (£C) > (£A) > («/B)
3{d: AB > BC > AC (ITTd HIUT & fauRid Yo

D
\,/w

PT2=PCxPB
64=4x(4+X)
x=123H.

emaw; 6 A7

AABD T

~+D=180°— (/A + /B)
=30°

AACD T

/A=30°= /D

3d: CA=CD
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56.(A)

57.(A)

58.(A)

59.(C)

60.(A)

61.(B)
62.(C)
63.(B)
64.(B)

65.(B)
66.(D)
67.(C)
68.(C)
69.(D)

70.(A)

71.(A)
72.(A)
73.(B)
74.(A)
75.(C)

Fb:-

A

B I F C
DE = AF = EC
ST f, AB =BC =CA
9 2006 & Tt Hulal &1 Fa IdTed
— 90 + 75 + 100 + 95 + 85 + 80 = 525
Ty 2007 B Tt Hufat &1 Fa IdTeH
— 110 + 60 + 110 + 100 + 105 + 85 = 570
3y 3R =570 - 525 =45
¥ 2007 BT TG BT 3N
_ 110+60+110+100+105+85 570
B 6 6
a9 2006 T A, B TUT C BT 3N
_ 90+75+100
- 3
_225_8833
¥ 2007 H D, E IUTF BT 3NTd
~ 100+105+85

3

_ 20 — =96.66
3

=95

88 33

iy ufawra = 5.66 x100 = 91.38%

FWWB‘(CI'IET[ 80 + 85 = 165
D 1 $d JMTG = 95 + 100 = 195

_ 165 100
sy ufamra 195

=84.61%

English Language

Dermatologist

Bridegroom

Unpleasant consequences

To deal with a person who is too strong for the
assailant.

detected

No improvement

"the" is not required before "democracy".

"for one" is not required before "to bid".

The word ‘because’ is a clue that the sentence
shows a cause-and-effect relationship. Skiing
fearlessly down the steepest trails is likely to
earn someone the reputation of being a
‘daredevil’.

“‘Reliable” means dependable. It makes sense
that “conflicting,” or inconsistent, standards
would affect the dependability of “appraisals” of
estimates.

Guarantee

Etiquette

obliterate (Verb) means destroy.

Belligerent (Adjective) means aggressive.
Scrimp (Verb) means economize whereas
squander (verb) means be wasteful.

76.(D)
77.(8)
78.(C)

79.(A)
80.(A)

Ans.61(B)

Ans.62(A)

Ans.63(A)

Ans.64(A)

Ans.65(C)

Ans.66(C)

Ans.67(A)

Ans.68(D)

Ans.69(A)

Ans.70(C)

Ans.71(C)
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Incentive (Noun) means catalyst.

My aunt exclaimed what a dirty child he was.
The reporting verb becomes "asked", the noun
comes before verb in case of interrogative
sentence.

The logical sequence is RPQ.

The logical sequence is PRQ.

T 7T Y & IR, SIRY & e § 98
A 3-8 Tura o7 Sufd 39 wra S
Tt g8 ot
o RR R o1 | 39 a1 | a7 o d6Y
o g8 gl M1 § b e o gt or srufa
99 A Id gl dTdfe R off v
EHIERER]
T o7 & gd Id # foaoiell wed aut
AT 8 BT 91 T F FHl T8 © 190
ST ANT SRS 814 @1 9 & &9 o &
HRU G Y|
Ryt weg &1T U BT Wee, & RorgepT 3ref
gIdl & B!-gaP! §al-sidl AT Geobl SR
gﬁqﬁeﬂaﬁ?qﬁ%ﬁmwﬁwm
|
TR & SR, &H S il 7 SHABT AR
R S gHM BT B faragl eal 3
3R Ters H fUwe gH ¥ § afd ued
3% foTT FgT 7T § S UeTs | aof kiR 3R
SRR BH & SIa9[G d W & oy Hed ug |
Uil A X S 151 TR 3R I SRR 514
%Waw$mﬁwﬁ|mm
J IHRWT AR R A S AFF &7 Haa
fora SiR T@at =T8T TR & ugad Sl o
3R ek # e gH ¥ § Safd ued
3% foTg FHg1 a1 § 7 Uets | auf kR
“grad RR W o1 3R SIga auar 98
U Ygad a1 ¢ Fifer S0 < ared Twferd
g1 foF aredl & -1 @ ¥ i Wwa I
ey Sl ¥ 99 8 (iR, T, T,
Wue I U A1 BE & O9- a8
fﬁ)?mmﬁ e Sl
qﬁawﬁmﬁ@%m&mﬁ,%ﬁ,ﬁ%
q1G A WR 3 W T BT 37, T HI 3,
3R 371 BT 3(d 3R 37 BT 319§ Sl g | O -
Ol + 39 = Ufd=, Ul + 3 = Ura
SRaeIe Bl TZH Bl YT & &7 R
%uauvé‘m% a{mﬁﬁa%ﬂrﬁm
Eﬁ: &-13), S yae Hg-
rruw‘rtvn?ﬂ% IR 3R Bifde gofar ot
fep0t Teft Bt B
HIfdd YT B I=AT 16 HaATSH ¥ fcHd
BIpR TGl g1 I UBR HFd R A
Islad I ol &1 ATfquiagT w@rifas
gl % Aie <9 T4 g WISW wen § guf
M4 Y|
Td MU § S GO &1 Tas TS
i 33" & o foaw ¥ grafRid g1 7% fedt
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Ans.72(C)

Ans.73(B)

Ans.74(A)

Ans.75(B)

Fb:-

& € o uiftfa TRk Fenfadd gu 8 w
ol & o § Ufdernr yee 81 9dhd g
anfavfa &1 iAW e “faRivEa” 81 Si&fe
g A fdpeu enfaufa &1 waiuart g
%ﬂﬁlﬁaﬁs{ﬁ%lmmmwﬁ
|

g1e-faare weg & Aol g 71 Aol g
AT & Weq] I Sredl gl 3R aFl B
R TH™d ug §41aT §, Afb gFl &1
T KT 1 T|dT g1 O IR-TR, 3T -
ot 3=, i snfel

TS TS &d & 1Y YUis &1 Ta Sie
YRATISAT & HF9 & 3R 21 3 a8
3T 3MGTE Uhe Pclle | ORI UBR Il
Pt fo0l W dlel faERdt g1 34t TR
ToAM® ¢d &1 dfdda SO I I Bifel
& ®9 H Bell g3 g

AGH B g1 b UHIU F HUBUl & et A
Fifds ST BT a1 1| g1 Tooll ab f3GRT g
off 3TfTE g1 BT B! et ¥ Srer o o1
BT IRR & 3 - UfIy 81| 81 BT 34 dguf

Ans.76(A)

Ans.77(C)

Ans.78(D)

Ans.79(A)

Ans.80(C)
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TE § AT quT 9 o § Yg® U ad,
g, guR|

3T Il & fau AR™Ur - a8+ 81 gt of
Fife § s 1 TR FAwaar €81 aar
Adad| 39 999, 39 99d & S U fora-n
g 1| 31 39 Y | DA I ol|

oe® = fafedl @ ot & T it 39D
Fd ° 9 o1 4| fore fafsar iR 9 91 59
fore e = fafgar &1 ot o

I e BT dT ea Y ¢ Ipd & off
Yeg; 30T w0 uRafdd fou famr fe=<f yrom o
3T 7| d I Neq HEANd §] O — 4, I,
U, 7 31|

qra Faff & R a1 o1 Faff = T ol
H3i1 36 Be e UT A BT A G AR
clelt & AT Y| TIa WS T el o]
F¢ T T 8 gl X1 i 81 U BudR g8
gSt are fOifda areg g P &t ar @1 @
Y% IUATH Bid I o Sil U YT arag
9IS gia € S fifE are ®ga g 9 - R
forrent, ST, o, &, < i
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